Grade 4 — Mathematics
Topic: Addition (no carrying)

Name:
1. Work out.
(a) 11234 (b) 7101 (c) 9 3 (d) 4
+ 2|5|6]|1 + 2|6 + 3 2
317 5 96| 6 6 6

2. Rewrite in columns and add.

(a) 1524 + 361 (b) 1047 + 2621 (c) 671 + 1025

@ 1]s]2la ) 1 7 (c) 671
+ 3|61 + 2 1 0 5
1] 8| 8|5 3 8 6 6

3.

In a school there are 387 boys and 212 girls. How many pupils are there in all?

Boys Girls Inall
387 212 3|87
+12|1
51919
Answer: 599 pupils
4,

Father gives Rs 350 to Tom and Rs 428 to Jane. How much money does he give in all?

Tom Jane In all
Rs 350 Rs 428 3150
+14]2|8
71718
Rs 778

Answer:




